Math 20-2 Name:
Trigonometry SKkill Building (old quiz)

1. Solve:

a) Solve for side indicated, rounded to one decimal place.
54 x
sin70  sin80

ii. x2=75%+4.22-2(7.5)(4.2)cos72

[4]
b) Find the measure of A to the nearest degree.
15 12
SinA  sin50

6.02+9.02-8.02

ii. cosA = 2(6.0)(9.0)




. Label the triangles using A, B, and C for the angles and using a, b and c for the sides.

Find the length of the side indicated, round to one decimal place.

a)

100°

8.0 cm

55°

b)

4.5 cm X

55°

9.5 cm



[4]

. Label the triangles using A, B, and C for the angles and using a, b and c for the sides.

Find the measure of the angle indicated, round to a whole number.

a)

4.4 cm 4.9 cm
7}
6.7 cm
b)
32 mm 1157

82 mm



[3]

4. Solve the triangle.

82°

38.0 m

63°

65.0 m



